Chapter 15

Index Numbers

	1.
Average of years 1998-2000:
	60.0

	
	1996
	57.8/60(100) =
	96.3

	
	1997
	58.1/60(100) =
	96.8

	
	1998
	54.1/60(100) =
	90.2

	
	1999
	58.5/60(100) =
	97.5

	
	2000
	67.4/60(100) =
	112.3

	
	2001
	66.4/60(100) =
	110.7

	
	2002
	64.1/60(100) =
	106.8

	
	2003
	68.2/60(100) =
	113.7


3.
1999:  100.0, found by (59.0/59.0)(100)


2000:  120.7, found by (71.2/59.0)(100)


2001:  136.4, found by (80.5/59.0)(100)


2002:  137.6, found by (81.2/59.0)(100)


2003:  141.9, found by (83.7/59.0)(100)


Internet use increased by 41.9% over the time period.
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c.
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7.
a.
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b.
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c.
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11.
The increase in the CPI is 26.5%, so 400(1.265) = $506.


13.
X = ($45,000)/1.246 = $36,115.57. Salary increased $36,115.57 ( $34,000 = $2,115.57.
15.
Year   Mercury     Mercury
Industry Index

1990
$23,650
100.0
100.0


1995
$28,972
122.5
122.5


2000
$32,382
136.9
136.9


2005   $34 269
        144.9
144.9


The Mercury plant workers received the same increase as the industry average.

	17.

	Less than high
	

	
	school graduation
	

	
	certificate
	Index

	Canada
	$21,230
	100.0

	Newfoundland & Labrador
	15,922
	75.0

	Prince Edward Island
	15,058
	70.9

	Nova Scotia
	18,251
	86.0

	New Brunswick
	17,074
	80.4

	Quebec
	20,553
	96.8

	Ontario
	22,691
	106.9

	Manitoba
	19,201
	90.4

	Saskatchewan
	18,288
	86.1

	Alberta
	22,196
	104.6

	British Columbia
	21,971
	103.5

	Yukon
	19,265
	90.7



Earnings are highest in Ontario and Alberta and lowest in Prince Edward Island and 


Newfoundland & Labrador.

	19.

	College
	

	
	certificate
	

	
	or diploma
	Index

	Canada
	$32,736
	100.0

	Newfoundland & Labrador
	28,196
	86.1

	Prince Edward Island
	25,613
	78.2

	Nova Scotia
	26,930
	82.3

	New Brunswick
	27,178
	83.0

	Quebec
	28,742
	87.8

	Ontario
	36,309
	110.9

	Manitoba
	29,351
	89.7

	Saskatchewan
	27,742
	84.7

	Alberta
	33,572
	102.6

	British Columbia
	33,159
	101.3

	Yukon
	33,817
	103.3



Earnings are highest in Ontario and the Yukon and lowest in Prince Edward Island and Nova Scotia. 

	21.

	University
	

	
	certificate, 
	

	
	diploma or degree
	Index

	Canada
	$48,648
	100.0

	Newfoundland & Labrador
	41,942
	86.2

	Prince Edward Island
	37,063
	76.2

	Nova Scotia
	41,146
	84.6

	New Brunswick
	40,375
	83.0

	Quebec
	45,834
	94.2

	Ontario
	53,525
	110.0

	Manitoba
	41,856
	86.0

	Saskatchewan
	40,279
	82.8

	Alberta
	50,069
	102.9

	British Columbia
	44,066
	90.6

	Yukon
	45,982
	94.5



Earnings are highest in Ontario and Alberta and lowest in Prince Edward Island and 


Saskatchewan.

23.



	Year
	2004
	2003
	2002
	2001
	2000

	Revenues
	9828
	10193
	11008
	17511
	27948

	Index
	35.2
	36.5
	39.4
	62.7
	100.0



Revenue decreased about 65 percent over the period.

25.

	Year
	2004
	2003
	2002
	2001
	2000

	Total Assets
	16984
	16591
	16961
	21137
	42180

	Index
	40.3
	39.3
	40.2
	50.1
	100.0



Total assets decreased about 60 percent between 2000 and 2004.

27.
	Year
	2004
	2003

	
	High
	Index
	Low
	Index
	High
	Index
	Low
	Index

	1st Q
	11.94
	85.3
	5.53
	81.9
	4.13
	29.5
	2.59
	38.4

	2nd Q
	8.35
	110.7
	4.16
	207.0
	4.81
	63.8
	3.04
	151.2

	3rd Q
	6.40
	246.2
	4.11
	587.1
	6.50
	250.0
	3.84
	548.6

	4th Q
	4.80
	133.0
	3.49
	520.9
	6.37
	176.5
	5.17
	771.6


The stock is extremely variable.
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The economy is up 23.05 percent from 1996 to 2001.

55.
February:
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